i ymEE

+
H#: 128228  4%M
1 7 9 11 13 15 17 19
1) 1 s -ty
(11 o5 3 12 20 30 42 56 72 90
9
P e
[5%] 0
1 11 1 1 1 1
fig 4 N [ S —— e -
L] R 334 4 5 9 10
:]_L
10
_9
10
2 2 2, 12 2, 42 2 2
[2) +5E: I +2 +2 +3 +3 4 + +9 +10
Ix2 2x3 3x4 9%10
. 9
%%] 18—
[5%] 0
2 1.3 2 4 3 10 9 a’ +b? a’ b*
[#A7) B R = —+ =+ —+ b —4+— ( _ _
T RA=T+ 157373, 9 10 axb _axb  axh
:2x9+£i
10
:182
10
. 1 1 7 9 8 17 5
3 : —t—t—t—F+—+—+—
(31 o5 4 5 12 20 15 30 12
[5%]13
1 1 1 1 1 1 1 1 2 1 1 1
)] BX=—t =4+ )+ (—+ )+ (+ D)+ E+ )+ (—+—
CRAT] R A= 45t Gt G Gr+ ey

le2+lx4+lx5+lx2
3 4 6

=3

%17 k17 W

a
—+
b

(A=)

b
a

)



